Quiz #4 (CSE 4190.313)

Monday, April 25, 2011

Name: E-mail:

Dept: ID No:
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the W-length of x. What line of vectors is W-perpendicular to y?
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1. (5 points) If W = , find the W-inner product of x = (2,3) and y = (1,1), and
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2. (5 points) Apply Gram-Schmidt to

a=(1,~10:0), b={01-10, e=(001-1)

to find orthogonal vectors A, B,C.
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3. (10 points) Construct a matrix with the required property or say why that is impossible.

1 2 1
(a) Column space contains [ 2 } and [ =3 :i, null space contains [ 1 }
-3 5 1

1 2 1
(b) Row space contains [ 2 } and [ -3 }, null space contains [ 1 jl

S 5 1
1 1 0

(¢) Ax = | 1 | has a solution and AT | 0 [ = | 0 |.
1 0 0

(d) Every row is orthogonal to every column (A is not the zero matrix).

(e) The columns add up to a column of 0s, the rows add up to a row of 1s.
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